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(Réw foreraa)
Full Marks : 60
Time : 2% hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. . Select the appropriate answers of the
questions from the following : 1x8=8

fFrfiiRe ears e Ter feiss i ¢
(a) Accounting gives information on
fepioed w2y faca

(i) financial states of the
organisations

AR R sz
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(ii) income and cost for the managers (c) Accounting principles are generally
FAZT T AE S e I - based on

(iii) company’s tax liability for a fesiea F‘Jll\‘mqg %_l% Pl
particular year () objectivity
@51 FfAS I e (@A GO I TEe!

- AR : (i) subjectivity

(iv) All of the above s st oI

GATIG AR (iii) convenience in recording
(b) Which of the accounting principles state | ferformmeT JRu S
that companies and owners should be (iv) None of the above
treated as separate entities ? e
‘ SARIG BI€ 7T

! f2bioE TS Fa0H @i o< 2=

WeRs e ojeF 92 el e [Reo w4 (d) Ind AS 9 is related to

e 2 - ‘ OIS 259 5 W AiFe

(i) Money measurement concept () revenue recognition
Ghfus AfRssR ai=ell - oz Figfed site

'(ii) Business entity concept ‘ (i) accounting for fixed assét
TR S el A Tifes fpie w99 site

(iii) Periodicity assumption. (iii) leases

TR SICHEC)] IS 0O |

(iv) Going concern concept (iv) depreciation accounting

sifeTet efedim el SR 2Bl IS
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(iii) net loss
(e) Amount spent on 1ncreasmg the seating % S
capacity in a cinema hall is a I

. | ' t profit
AR S R el e A @@l (iv) net profi

I ‘ UPO e FoI©
(i) revenue expenditﬁre (g) Profit and Loss Account is alsb known as
G2 _ - Ere-Een 29 Tl T
~ (ii) capital expenditure ‘ () statement of affairs
A4 W , Fng Ryt fpicats
(@) both revenue and capital (ii) income statement
expenditure w1 Rorete
W@ WIS &R P W » _ (ii1) statemeht of operation
(iv) None of the above ' / il fqf fapTEote
GAEIG BIe T

(iv) statement of labours

() Excess of debit in the Profit and Loss : ¥y e fpste
Account is known as

; (h) In hire purchase system the buyer
He-ENRbI 2ot wfelie (©ikts ol A

charges depreciation on the

(i) gross loss ©IYl &Y Efes (TR o e
O (ENFEINE Fol® 0 cdib
! price
. (ll) ‘ ;g;OSS pI'Ofit ; : BRI W QIS
e Folo ’
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Answer in brief any six questions :

(i) future market price
SRres 7O AN @se
(i) hire purchase price
I TR W eoiTe
(itv) middle price
TR Coqe
2x6=12

Ricelc =Y 2 5 e ot 3

()

(@)

fi)

Mention any two of the users of
financial accounting information.

et fRo1e1a wer Rz 7 v i S <=t |

What is the basic difference between
Accounting Standard and Generally
Accepted Accounting Principles ?

251717 TFTE @i AR Ay BeieR
o7 Cfers =y & 2

What is the significance of Accounting
Standards ?

f2biof TeoTR wieorh & 2
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(iv)

(v)

(v1)

(vii)

Explain in brief the meaning of
matching concept in the measurement
of income.

S PR (e fereaed e o st
IR 4 | ;

How are expenses recognised under
AS9? :

feorem a7 W SR W MR Gl
W2

What is revenue receipt ?

ez eife e & ¢

What is the significance of inventory
valuation ?

GO 249 RN Sleo F o

(vi'ii} What is the basic advantage‘ of

()
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computerised accounting ?
FATHIE I 31 Roletarsear 1 st 5 2

What is the basic difference between
hire purchase system and instalment
payment system ? j

OISt T oGS W e T AR G
N = 2
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(x) How do you define accounting software
package ?

feblo e AT PV (ATSR A& i |

Answer any four questions in short: 5x4=20
Rzt Sifab! et Tl st o1l 8

(a) Mention the qualitative characteristics
of accounting information.

f2ple W weere CAMBPITE TEd 1|

(b) Write the meéning of the following
~accounting principles :

el fpier Tifewrg o @i e
(i) Cost concept ’

[N Il
(i) Consistency

el

() What are the objectives of measurement
of business income ?

PR O Aol 39 Sy [ 2

(d) Write the differences between capital
expenditure and revenue expenditure.
What is capital receipt ? 3+2=5

N2 I W Y] IRE AL T | e
A S & ¢
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(e) Write the advahtages and disadvantages
of hire purchase system. 3+2=5

9Tl & AwoF Rl O SjRePRE o |

(f) Write a note on accounting system of a
dependent branch.

STt =119 bt IR 8w «bt (Giet 7l |
(99 What are the features of Tally 9?

GeTl’ 53 CaRBpmE fF
(h) Write the basic differences of manual

accounting and computerised accounting.

O 9 f2pioiwd Wise FEATHIEE B
fapioreR &1 Sy ol

4. Answer any two questions : 10x2=20

Rzt w5 e T fovan ¢

(@) From the following Trial Balance of
M/s. Gupta Enterprise, prepare Trading
and Profit and Loss account for the
year ended on 31st March, 2023:

4+6=10
GhIb el @oReEER nfFfe fivree [qfes
AR T lel o @Tre (@D Rl age
4l ¢
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Particulars Dr. Cr.
\EESG)) (¢cof35) (eB)
Capital (Je1¢¥) — 4,00,000
Drawings (91239) 50,000 §roy
Opening Stock 75,000
(TEfd g #ie)
Purchases (&%) 4,20,000
Sundry Creditors 75,000
(FMRel NG ’
Sales (Reh) 8,10,000
Sundry Debtor (3igiR4 (w=imi@) | 1,20,000
Freight inward (F39 ¢72[€© ©Iul) 20,000
Discounts (3i3t) . 16,000 28,000
Commissions (W) 12,000 14,000
Returns (7%= f2piet) 16,000 20,000
| Salaries (&%) 1,20,000
Rent, Rates and Taxes 40,000
4, OlYl, [ : :
?ostage, Telegrams and
elephone 25,000
T, (GRS, (BRI
Loan (44) 3,00,000
Interest (3n) 20,000
Brand Name and Design 60,000
AN BAEIReT TN W= T3
Furniture (I6AR) 3,50,000
Advertisement (fai=i) 1,00,000
Cash in Bank (@ 23 5) | 1,50,000
Cash in hand (e 431 5t) 63,000
Duty drawbacks 10,000
@R (AR QA o= :
Total (5) ¢ 16,57,000 | 16,57,000
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(b)

Other information (S ©%f) ¢
(i) Closing Stock Rs. 1,70,000.

TGO A |
(i) Depreciate Furniture @ 10% p.a.
HHAE SFT IR @ S0% A=Al |

(iii) The enterprise spent heavy
expenditure in advertisement for
launching new product which is
to be written off over 5 yrs. '
R FSHIAE T GBI TeoAMRT 2D
IR A ReslsiTa AIe 7R AR 4
g FE IS ¢ IFS [Toqe Tl
SRfeTe el 2 |

(iv) Salary Outstanding Rs. 12,000
SEWIE wwE

(v) Salary Paid in Advance Rs. 10,000
wfaweiE sAReifie we

On 1st April, 1998 A Ltd. purchased
from B Ltd. five trucks under hire
purchase system, Rs. 5,00,000 being
paid on delivery and balance in five
instalments of Rs. 7,50,000 each
payable annually on 31st March. The
vendor charges 5 per cent p.a. interest
on yearly balances. The cash price on
five trucks was Rs. 37,50,000.
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(c)

You are required to show Trucks

Account and B. Ltd. Account in the

Ledgér Book of A Ltd. Company.

Af2er @fere, 1998 wikre A fafioe B
%ﬁmwwwwrwsmmﬁsﬁml

TR (PR 9%l =1 e 5,00,000 551 -

A1 SR A9 7= 7,50,000 Fpive 25
fof¥e ey 31 W Ry R |
Rteoiz S 9 esqe 757 59 W Al
SR 2l B 315 51 37,50,000 5t |
A Ltd-3 33 5" &ls &= B Ltd-7 Rief
AFO T | :

Hari Brothers of Kolkata has a branch
at Ranchi and in order to maintain strict
control on stock, invoices goods to the
branch at selling price which is cost plus
331%. From the following particulars,
prepare‘Branch Stock Account, Branch
Debtors Accounts and Goods Sent to
Branch Account. 4+4+2=10

Wﬁﬁmmaﬁwwlw
U SIS I el 717 A =<z R
WIS (TS AT @S 00, % FIS 4 9
) T&PE BieTe fuey |
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frefeie wem fofes =i g @ st
SIS #1419 (IS 25191 w16 *M1=iite wapeideam

f2biol ove 4t |

Debtors on 1st April, 2022
AN Gt 20333 TAEmE
Goods invoiced to Branch
during the year (Invoice Price)

TS *NCA ST 7l w2 (Brenen) wisro)

Sales at Branch (*I14fs )
Cash (95%)

Credit (I15))

Cash received from debtors
Rl R i

Bad debt written off

SRR AT ST

Discount allowed to customer
szl G

Expenses at Branch

MAS Q=

Stock on 31st March, 2023
O3 6’ 039 © AR TGS ooy
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Rs.

Stock on 1st April, 2022 (Invoice Price) 15,000
AAfeetl e 20333 Wer© Ay (G i)

11,400

67,000

31,000
37,400
40,000

250
300
6,700

13,400

Contd.




(d) Assam Motor Service Co. buys a motor (e) Explain the procedures for setting
car on instalment payment system from Accounting Standards in India.
Hin.d Motors Ltd. 9n'01.01.2018 under ‘ m 1o S A1 T A
which payment is to be made on ;
December 31 each year for 4 years hall
@ Rs. 50,000 per annum, interest being
calculated @ 5% p.a. The cash down
price of the car is Rs. 1,77.300.
Depreciate the car @ 10% p.a. on
diminishing balance method.

Prepare Motor Car Account, Hind Motors
Ltd. Account and Interest Suspense
Account in the books of Assam Motors
Service Co. for four years.

Assam Motors Service Co.-9 fewy
*%f®® Hind Motors Ltd < #41 01.01.2018
e G5t 559 oMY @ 707 | = 799 R
A= 31 WIS {50,000 5T BIR T
S 41 29 @ 3R 5% 20T 7 Bpiet
| NG T 57 =ifeat 1,77, 300 51
TP mfee /R 10% FE@ AT
ST 4Q [ |
Assam Motors Service Co.-3 I21® bIfS I%5
AT SeTS Al RN eigs 31 2

() Motor Car Account
(i) Hind Motors Ltd. Account

(tit) Interest Suspense Account
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